TECNOWAP




SPAZZOLA RADAMES 3 INSERTI ALTA TEMPERATURA cod. 71040G2V1 REV.0 16/01/13

Pos. | CODICE | Q.ta DENOMINAZIONE DENOMINATION
1 [7104012 1 COPRI SPAZZOLA RETTANGOLARE BODY COVER FLOOR TOOL
2 1510426 2 TASSELLO DI BLOCCAGGIO GIALLO SLIDING LATCH YELLOW
3 |7100064V1 1 CORPO SNODO RADAMES ALTA TEMPERATURA |HINGE BODY
3A [510003 1 BLOCCHETTO SOTTOLEVA GIALLO INNER LOCKING LATCH — YELLOW
3B [510002 1 LEVETTA BLOCCA PROLUNGA GIALLO BLOCKING LEVER YELLOW
3C |VI7192 1 VITE AUTOF. TSP ZN NERA 2,9X6,5 SCREW TSP 2,9X6,5
3D |VI70007 1 INSERTO FILETTATO M8 FORO M4 OTTONE THREADED INSERT M4
3E [VI70037 1 POMELLO BLOCCAGGIO NERO M4 BLACK BLOCKING HANDLE
4 11200075 1 UGELLO ROTONDO FEMMINA ROUND FEMALE NOZZLE
5 |VI73398 1 RONDELLA 10X16X0,5 INOX WASHER STAINLESS STEEL
5A  [VI72038 1 GHIERA 1/8 GAS INOX NUT
6 7104024 1 DIFFUSORE PER SPAZZOLA PORTA INSERTI STEAM DIFFUSER FOR FLOOR TOOL
7 |PG53504 mt. 0.22 |TUBO @5x12 170° 8 ATM HOSE @5x12 170° 8 ATM
8 |PG5250 1 FASCETTA CLIC PER HI-TECH (110-VERDE) CLAMP
9 |VI71612 2 VITE TSP M4X25 INOX UNI7688 DIN 965 SCREW STEEL M4x25 TPS
10 |VI70114 1 GRANO M4x6 BLOCKING PIN M4x6
11 |VI7114 1 VITE AUTOFILETTANTE TGS 2.9x9.5 SCREW TGS 2.9x9.5
12 |PG52505 1 FASCETTA CLIC 10.5-12/6 (100) CLAMP 10.5-12/6
13 [5104082 1 INSERTO ANT SPAZZOLA RETTANGOLARE FRONT INSERT RECTANGULAR BRUSH
14 |PG59510 1 INSERTO GOMMA ROSSA L.360mm INSERT RUBBER RED
15 |VI71216 2 VITE M4X10 TC TC UNI7687 DIN7985 INOX A2 SCREW STEEL M4X10
16 |CA51002 1 STAFFA DX INSERTO ANT SPAZZOLA RETT BRACKET RIGHT FRONT BRUSH
17 |CA51012 1 STAFFA SXINSERTO ANT SPAZZOLA RETT BRACKET LEFT FRONT BRUSH
18 |VI72212 2 DADO M4 CIECO INOX UNI5721 DIN1587 BLIND NUT M4 STEEL
19 510408 1 INSERTO ACQUA POLVERE 375 NYLON PAG INSERT WATER DUST
20 [510425 1 LISTA GOMMA NEOPRENE mm360x22 LIST NEOPRENE RUBBER
21 [5104102 1 INSERTO SETOLE NERE NYLON L.360 INSERT BLACK BRISTLES




